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UN EXEMPLE: 
 

  Com resoldre l’equació:     	ହଷ = ଻௫    ? 
 

 11r  PAS: «producte en creu» 53 = ݔ7 					⇒ 					5 · ݔ = 3 · 7 

 

 22  n  PAS: «aïllem la x» 5 · ݔ = 3 · 7					 ⇒ ݔ					 = 3 · 75  

 

  ...ara fem el producte  3 · 7 = 21  i ja hem resolt l’equació: 
 

 													࢞ = ૛૚૞  

 
 

EN GENERAL: 
 

  Com resoldre l’equació:     	௔௕ = ௖௫    ? 
 

 11r  PAS: «producte en creu» ܾܽ = ݔܿ 					⇒ 					ܽ · ݔ = ܾ · ܿ 
 

 22  n  PAS: «aïllem la x» ܽ · ݔ = ܾ · ܿ					 ⇒ 					࢞ = ࢈ · ࢇࢉ  

 


